Filomat 39:11 (2025), 3681–3693 https://doi.org/10.2298/FIL2511681A



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# Deferred logarithmic summability and its applications to Tauberian theory

## Zeynep Acar<sup>a,b,\*</sup>, İbrahim Çanak<sup>b</sup>

<sup>a</sup> Graduate School of Natural and Applied Sciences, Ege University, Izmir, 35040, Türkiye <sup>b</sup>Department of Mathematics, Ege University, Izmir, 35040, Türkiye

**Abstract.** In this paper, we define and introduce deferred logarithmic transformations, which are more general and effective than well-known transformations. Additionally, we provide several inclusion theorems and illustrative examples. We investigate the limiting behavior of deferred logarithmic moving averages of numerical sequences. We also present necessary and sufficient Tauberian conditions under which convergence of a sequence or its certain subsequences follows from its deferred logarithmic summability. As a result, the method and theory developed in this paper may contribute to obtaining more interesting and useful results concerning other advanced summability methods and to extending these findings to additional areas of research.

#### 1. Introduction

In summability theory, despite the significant progress made with existing methods, there remains a persistent need for continued research and refinement. While the current transformations exhibit many advantageous properties, it has been observed that nearly all of them also present undesirable characteristics. For instance, the Cesàro transformation of any positive order increases ultimate bounds and oscillations of certain sequences of functions and does not always preserve some convergence types for sequences of functions such as continuous, uniform or mean-square. To overcome these limitations, Agnew [1] introduced the deferred Cesàro mean as a generalization of the Cesàro mean, which possesses useful properties not present in Cesàro's and other well-known transformations. In this pioneering study, Agnew also introduced a necessary and sufficient condition so that the deferred Cesàro transformation may include the Cesàro transformation. Since then, this topic has been extensively investigated by researchers from various perspectives. Moreover, deferred Cesàro means have been studied in various contexts, including paranormed spaces [9], sequence spaces of random variables [12] and fuzzy numbers [33]. The integration of deferred Cesàro means with the concept of statistical convergence has significantly expanded the scope of research, paving the way for further studies [8, 11, 13, 20]. In recent years, deferred Cesàro means have

<sup>2020</sup> Mathematics Subject Classification. Primary 40E05 ; Secondary 40A05, 40G99.

*Keywords*. Deferred logarithmic means, Tauberian conditions and theorems, inclusion theorems, moving averages, slow decrease and oscillation with respect to deferred logarithmic summability.

Received: 11 October 2024; Revised: 10 February 2025; Accepted: 13 February 2025

Communicated by Ljubjša D. R. Kočinac

<sup>\*</sup> Corresponding author : Zeynep Acar

Email addresses: zeyneppp.acarr@gmail.com (Zeynep Acar), ibrahim.canak@ege.edu.tr (İbrahim Çanak)

ORCID iDs: https://orcid.org/0009-0002-7051-6160 (Zeynep Acar), https://orcid.org/0000-0002-1754-1685 (İbrahim Çanak)

become a highly active area of research, due to their applications in summability and approximation theory. For more details, we refer to [3–5, 7, 10, 14–18, 25–27, 29, 32, 34].

In this paper, inspired by the above-mentioned studies, the logarithmic method will form the basis of our research. In the literature, there has been a surge of studies on Tauberian conditions for logarithmic summability methods, both in the classical sense and in the statistical sense. Additionally, researchers have expanded these studies to various sequence spaces. Here, we reference only a few of them [2, 6, 19, 21–24, 28, 31, 36].

Although the aforementioned studies are milestones in this field, our primary motivation for conducting this research is our shared goal with Agnew [1]. In this study, we introduce the deferred logarithmic transformation by modifying the logarithmic method, resulting in a more general and effective transformation compared to the logarithmic and other well-known methods in terms of its features.

We consider a sequence  $(u_n)$  of real or complex numbers. The deferred logarithmic means  $D_{\ell_n}^{p,q}(u)$  of  $(u_n)$  is defined by

$$D_{\ell_n}^{p,q}(u) = \frac{1}{\ell_n^{p,q}} \sum_{k=p_n+1}^{q_n} \frac{u_k}{k}, \quad \text{where} \quad \ell_n^{p,q} = \sum_{k=p_n+1}^{q_n} \frac{1}{k} \sim \log \frac{q_n}{p_n}, \tag{1}$$

where  $(p_n)$  and  $(q_n)$  are the sequences of non-negative integers satisfying

$$p_n < q_n, \quad n = 1, 2, \dots,$$
 (2)

and

$$\lim_{n \to \infty} q_n = \infty. \tag{3}$$

It is important to observe that when  $p_n = n - 1$  and  $q_n = n$ , we obtain the identity transformation, and when  $p_n = 0$  and  $q_n = n$ , the corresponding deferred logarithmic mean reduces to the logarithmic mean. Since

$$\lim_{n \to \infty} \frac{\ell_n^{p,q}}{\log \frac{q_n}{p_n}} = 1,$$

the sequences  $\{D_{\ell_n}\}$  and  $\{D_{\ell_n}\}$  are equiconvergent with the same limit, where

$${}^{*}D_{\ell_n}^{p,q}(u) = \frac{1}{\log \frac{q_n}{p_n}} \sum_{k=p_n+1}^{q_n} \frac{u_k}{k},$$

in which case the logarithm is to the natural base *e*.

We say that  $(u_n)$  is deferred logarithmic summable of first order, briefly: summable  $(D_{\ell_n}, 1)$ , if there exists some  $L \in \mathbb{C}$  such that

$$\lim_{n \to \infty} D_{\ell_n}^{p,q}(u) = L.$$
(4)

In this paper, innovating the definition of a properly deferred sequence given by [1], we provide several inclusion theorems and illustrative examples. Additionally, we investigate the limiting behavior of deferred logarithmic moving averages of numerical sequences. In the main result of this paper, we present converse conclusions, namely Tauberian theorems, for the deferred logarithmic method, whose regularity we have established. Motivated by the definitions of slowly decreasing and slowly oscillating sequences with respect to logarithmic summability [24], we define the concepts of slow decrease and slow oscillation for a sequence of real and complex numbers with respect to deferred logarithmic summability, respectively. As a result, we obtain necessary and/or sufficient conditions under which convergence of a sequence ( $u_n$ ) or its certain subsequences follows from summability by deferred logarithmic means.

### 2. Inclusions

Throughout this paper, we shall proceed under the assumption that conditions (2) and (3) hold. Any additional restrictions on the sequences of non-negative integers ( $p_n$ ) and ( $q_n$ ), if necessary, will be specified in the relevant theorems.

**Remark 2.1.** We recall that for the sequence  $(u_n)$  of real or complex numbers, the sequence  $(\sigma_n)$  of its arithmetic (also called (C, 1)) averages is defined by

$$\sigma_n(u) = \frac{1}{n} \sum_{k=1}^n u_k, \quad n = 1, 2...,$$
(5)

while the sequence  $(\tau_n)$  of its logarithmic (also called  $(\ell, 1)$ ) averages is defined by

$$\tau_n(u) = \frac{1}{\ell_n} \sum_{k=1}^n \frac{u_k}{k}, \quad \text{where} \quad \ell_n = \sum_{k=1}^n \frac{1}{k} \sim \log n, \quad n = 1, 2 \dots$$
(6)

Moreover, if a sequence is (*C*, 1) summable to *L*, then it is ( $\ell$ , 1) summable to *L* (see, e.g., [35]). However, the converse of this statement is not true in general.

**Theorem 2.2.** Every sequence that is (C, 1) summable to a finite limit L is also  $(D_{\ell_n}, 1)$  summable to the same value.

*Proof.* For the reader's convenience, we provide a sketch of the proof of this claim. To begin with, we express  $u_n$  in terms of  $\sigma_n$  as follows:

$$u_n = n\sigma_n - (n-1)\sigma_{n-1}.$$

Accordingly, we can state the following,

$$D_{\ell_n}^{p,q}(u) = \frac{1}{\ell_n^{p,q}} \sum_{k=p_n+1}^{q_n} \frac{1}{k} (k\sigma_k - (k-1)\sigma_{k-1}) = \frac{1}{\ell_n^{p,q}} \sum_{k=p_n+1}^{q_n} \left(\sigma_k - \sigma_{k-1} + \frac{1}{k}\sigma_{k-1}\right)$$
$$= \frac{\sigma_{q_n} - \sigma_{p_n}}{\ell_n^{p,q}} + \frac{1}{\ell_n^{p,q}} \sum_{k=p_n+1}^{q_n} \frac{\sigma_{k-1}}{k} \to 0 + L, \quad n \to \infty.$$

So,  $u_n \to L(C, 1) \implies u_n \to L(D_{\ell_n}, 1), n \to \infty$ .  $\Box$ 

The converse of Theorem 2.2 is not always true, as shown in the following example.

**Example 2.3.** Let  $p_n = 2n - 1$  and  $q_n = 4n - 1$ . The sequence  $(u_n) = ((-1)^n n)$  is  $(D_{\ell_n}, 1)$  summable, but not (C, 1) summable.

Indeed, one can check easily that

$$D_{\ell_n}^{p,q}(u) = \frac{1}{\ell_n^{p,q}} \sum_{k=p_n+1}^{q_n} \frac{u_k}{k}$$
$$= \frac{1}{\ell_n^{p,q}} \sum_{k=2n}^{4n-1} (-1)^k \to 0, \quad n \to \infty.$$

So, we say that  $(u_n)$  is deferred logarithmic summable to 0.

On the other hand, we know that if  $\lim_{n\to\infty} \sigma_n$  exists, then  $u_n = o(n), n \to \infty$ . From this fact, since  $\lim_{n\to\infty} \frac{u_n}{n} = \lim_{n\to\infty} (-1)^n$  does not exist, we can conclude that the limit of  $(\sigma_n)$  does not exist. Hence,  $(u_n)$  is not (C, 1) summable.

As is well-known, the (C, 1) summability method is regular, meaning that every convergent sequence is Cesàro summable to the same limit.

**Corollary 2.4.** The deferred logarithmic summability method is regular under conditions (2) and (3), meaning that if conditions (2) and (3) are satisfied and a sequence  $(u_n)$  of real or complex numbers converges to a finite limit L, then  $(D_{\ell_n}, 1)$  also converges to the same limit L.

However, it is shown by the following example that convergence does not follow from deferred logarithmic summability in general.

**Example 2.5.** Consider the divergent sequence  $(u_n) = ((-1)^n)$ . It is clear that  $\sigma_n \to 0$ ,  $n \to \infty$ . Hence,  $D_{\ell_n}^{p,q} \to 0$ ,  $n \to \infty$ .

The converse cases hold only under a suitable condition. Such a condition is called a Tauberian condition, and the resulting theorem is called a Tauberian theorem. It is important to note that these theorems are referred to as 'Tauberian' in honor of A. Tauber, who was the first to prove one of the simplest theorems of this kind. Next, in the main result of this paper, we present Tauberian theorems for the deferred logarithmic summability of sequences.

Motivated by the definition of a properly deferred sequence [1], we say that  $(D_{\ell_n}, 1)$  is properly deferred if  $\left(\frac{\ell_{p_n}}{\ell^{p,q}}\right)$  is bounded.

**Theorem 2.6.** If  $(D_{\ell_n}, 1)$  is proper, then a complex sequence that is  $(\ell, 1)$  summable to a finite limit *L* is also  $(D_{\ell_n}, 1)$  summable to the same value.

*Proof.* We outline the proof of this claim. First, using (6), we obtain

$$\ell_n \tau_n = \sum_{k=1}^n \frac{u_k}{k}.$$
(7)

Accordingly, based on (1) and (7), we can state

$$D_{\ell_n}^{p,q}(u) = \frac{1}{\ell_n^{p,q}} \left( \ell_{q_n} \tau_{q_n} - \ell_{p_n} \tau_{p_n} \right)$$
  
=  $\tau_{q_n} + \left( \frac{\ell_{q_n}}{\ell_n^{p,q}} - 1 \right) \tau_{q_n} - \frac{\ell_{p_n}}{\ell_n^{p,q}} \tau_{p_n}$   
=  $\tau_{q_n} + \frac{\ell_{p_n}}{\ell_n^{p,q}} (\tau_{q_n} - \tau_{p_n}) \to L + 0, \quad n \to \infty.$ 

Since  $(D_{\ell_n}, 1)$  is proper, then  $u_n \to L(\ell, 1) \implies u_n \to L(D_{\ell_n}, 1), n \to \infty$ .  $\Box$ 

However, the converse of Theorem 2.6 is not true in general as the following example shows.

**Example 2.7.** Let  $p_n = 2n$  and  $q_n = 4n^2$ . Consider the sequence  $(u_n)$  defined by

$$u_n = \begin{cases} \frac{n(n+1)}{2}, & n \text{ is odd,} \\ -\frac{n^2}{2}, & n \text{ is even.} \end{cases}$$

It is easy to verify that  $u_n \to 0$  ( $D_{\ell_n}$ , 1),  $n \to \infty$ . On the other hand, we have

$$\tau_n(u) = \begin{cases} \frac{n+1}{2\ell_n}, & n \text{ is odd,} \\ 0, & n \text{ is even.} \end{cases}$$

Clearly,  $(u_n)$  is not  $(\ell, 1)$  summable.

When examining the implication relations among the aforementioned summability methods, we obtain the following corollary.

**Corollary 2.8.** If  $(D_{\ell_n}, 1)$  is proper, then summability  $(D_{\ell_n}, 1)$  is more effective than summability  $(\ell, 1)$ . Consequently, *it is also more effective than summability* (C, 1).

## 3. Auxiliary results

rWe need the following lemma which is essential in the proofs of our main results.

**Lemma 3.1.** (*i*) If  $\lambda > 1$  and *n* is large enough in the sense that  $[q_n^{\lambda}] > q_n$ , then,

$$u_{q_n} - D_{\ell_n}^{p,q}(u) = \frac{\ell_n^{p,[q^{\lambda}]}}{\ell_n^{q,[q^{\lambda}]}} \left( D_{\ell_n}^{p,[q^{\lambda}]}(u) - D_{\ell_n}^{p,q}(u) \right) - \frac{1}{\ell_n^{q,[q^{\lambda}]}} \sum_{k=q_n+1}^{[q_n^{\lambda}]} \left( \frac{u_k - u_{q_n}}{k} \right).$$
(8)

(ii) If  $0 < \lambda < 1$  and n is large enough in the sense that  $q_n > [q_n^{\lambda}]$ , then,

$$u_{q_n} - D_{\ell_n}^{[p^{\lambda}], [q^{\lambda}]}(u) = \frac{\ell_n^{[p^{\lambda}], q}}{\ell_n^{[q^{\lambda}], q}} \left( D_{\ell_n}^{[p^{\lambda}], q}(u) - D_{\ell_n}^{[p^{\lambda}], [q^{\lambda}]}(u) \right) + \frac{1}{\ell_n^{[q^{\lambda}], q}} \sum_{k=[q_n^{\lambda}]+1}^{q_n} \left( \frac{u_{q_n} - u_k}{k} \right), \tag{9}$$

where  $[q_n^{\lambda}]$  denotes the integer part of  $q_n^{\lambda}$ .

Proof. (i) By definition,

$$D_{\ell_n}^{p,[q^{\lambda}]}(u) = \frac{1}{\ell_n^{p,[q^{\lambda}]}} \sum_{k=p_n+1}^{q_n} \frac{u_k}{k}$$
$$= \frac{1}{\ell_n^{p,[q^{\lambda}]}} \sum_{k=p_n+1}^{q_n} \frac{u_k}{k} + \frac{1}{\ell_n^{p,[q^{\lambda}]}} \sum_{k=q_n+1}^{[q_n^{\lambda}]} \frac{u_k}{k}$$
$$= \frac{\ell_n^{p,q}}{\ell_n^{p,[q^{\lambda}]}} D_{\ell_n}^{p,q}(u) + \frac{1}{\ell_n^{p,[q^{\lambda}]}} \sum_{k=q_n+1}^{[q_n^{\lambda}]} \frac{u_k}{k}.$$

Therefore,

$$\frac{\ell_n^{p,[q^{\lambda}]}}{\ell_n^{q,[q^{\lambda}]}} \left( D_{\ell_n}^{p,[q^{\lambda}]}(u) - D_{\ell_n}^{p,q}(u) \right) - \frac{1}{\ell_n^{q,[q^{\lambda}]}} \sum_{k=q_n+1}^{[q^{\lambda}_n]} \frac{u_k}{k} = -D_{\ell_n}^{p,q}(u),$$

that is equivalent to (8).

(ii) The proof of (9) is similar.  $\Box$ 

Furthermore, we determine the limiting behavior of deferred logarithmic moving averages of a sequence real or complex numbers.

**Theorem 3.2.** If a sequence  $(u_n)$  of real or complex numbers is deferred logarithmic summable to a finite limit L, then

$$\lim_{n \to \infty} \frac{1}{\ell_n^{q, [q^{\lambda}]}} \sum_{k=q_n+1}^{[q_n^{\lambda}]} \frac{u_k}{k} = L,$$
(10)

*for each*  $\lambda > 1$ *, and* 

$$\lim_{n \to \infty} \frac{1}{\ell_n^{[q^{\lambda}],q}} \sum_{k=[q_n^{\lambda}]+1}^{q_n} \frac{u_k}{k} = L,$$
(11)

for each  $0 < \lambda < 1$ .

*Proof.* If  $\lambda > 1$  and *n* is large enough such that  $[q_n^{\lambda}] > q_n$ , then from Lemma 3.1, we have

$$\frac{1}{\ell_n^{q,[q^\lambda]}} \sum_{k=q_n+1}^{[q_n^\lambda]} \frac{u_k}{k} = D_{\ell_n}^{p,q}(u) + \frac{\ell_n^{p,[q^\lambda]}}{\ell_n^{q,[q^\lambda]}} \left( D_{\ell_n}^{p,[q^\lambda]}(u) - D_{\ell_n}^{p,q}(u) \right)$$

It is obvious that for all  $\lambda > 1$  and sufficiently large *n*,

$$1 < \frac{\ell_n^{p,[q^\lambda]}}{\ell_n^{q,[q^\lambda]}} < \frac{3\lambda - 1}{\lambda - 1}.$$
(12)

Thus (10) is obtained from (12) and the assumed convergence of  $(D_{\ell_n}^{p,q}(u))$ .

If  $0 < \lambda < 1$  and *n* is large enough such that  $q_n > [q_n^{\lambda}]$ , then from Lemma 3.1, we have

$$\frac{1}{\ell_n^{[q^{\lambda}],q}} \sum_{k=[q_n^{\lambda}]+1}^{q_n} \frac{u_k}{k} = D_{\ell_n}^{[p^{\lambda}],[q^{\lambda}]}(u) + \frac{\ell_n^{[p^{\lambda}],q}}{\ell_n^{[q^{\lambda}],q}} \left( D_{\ell_n}^{[p^{\lambda}],q}(u) - D_{\ell_n}^{[p^{\lambda}],[q^{\lambda}]}(u) \right).$$

It is clear that for all  $0 < \lambda < 1$  and sufficiently large *n*,

$$1 < \frac{\ell_n^{[p^A],q}}{\ell_n^{[q^A],q}} < \frac{3-\lambda}{1-\lambda}.$$
(13)

Thus (11) is obtained from (13) and the assumed convergence of  $(D_{\ell_n}^{p,q}(u))$ .

## 4. Main results

For real sequences, we prove the following one-sided theorems. First, we give necessary and sufficient Tauberian conditions under which convergence of a certain subsequence of a sequence of real numbers follows from its deferred logarithmic summability.

**Theorem 4.1.** If a sequence  $(u_n)$  of real numbers is deferred logarithmic summable to a finite limit *L*, then

$$\lim_{n \to \infty} u_{q_n} = L \tag{14}$$

if and only if

$$\limsup_{\lambda \downarrow 1} \liminf_{n \to \infty} \frac{1}{\ell_n^{q, [q^\lambda]}} \sum_{k=q_n+1}^{[q^\lambda_n]} \left( \frac{u_k - u_{q_n}}{k} \right) \ge 0$$
(15)

and

$$\limsup_{\lambda \uparrow 1} \liminf_{n \to \infty} \frac{1}{\ell_n^{[q^\lambda],q}} \sum_{k=[q_n^\lambda]+1}^{q_n} \left(\frac{u_{q_n} - u_k}{k}\right) \ge 0, \tag{16}$$

in which case we necessarily have

$$\lim_{n \to \infty} \frac{1}{\ell_n^{q, [q^\lambda]}} \sum_{k=q_n+1}^{[q^\lambda_n]} \left( \frac{u_k - u_{q_n}}{k} \right) = 0 \tag{17}$$

for all  $\lambda > 1$ , and

$$\lim_{n \to \infty} \frac{1}{\ell_n^{[q^\lambda],q}} \sum_{k=[q_n^\lambda]+1}^{q_n} \left(\frac{u_{q_n} - u_k}{k}\right) = 0 \tag{18}$$

for all  $0 < \lambda < 1$ .

We can reformulate conditions (15) and (16) as follows: To every  $\epsilon > 0$  and  $\lambda_1 > 1$ , there exist  $n_1 = n_1(\epsilon) > 0$  and  $\lambda = \lambda(\epsilon)$  with  $1 < \lambda < \lambda_1$  such that for every  $n \ge n_1$  we have

$$\lim_{n\to\infty}\frac{1}{\ell_n^{q,[q^\lambda]}}\sum_{k=q_n+1}^{[q_n^\lambda]}\left(\frac{u_k-u_{q_n}}{k}\right)\geq-\epsilon,$$

and for another  $1 < \lambda < \lambda_1$  we have

$$\lim_{n\to\infty}\frac{1}{\ell_n^{[q^{\lambda^{-1}}],q}}\sum_{k=[q_n^{\lambda^{-1}}]+1}^{q_n}\left(\frac{u_{q_n}-u_k}{k}\right)\geq -\epsilon.$$

r 11

Remark 4.2. The symmetric counterparts of conditions (15) and (16) are the following:

$$\liminf_{\lambda \downarrow 1} \limsup_{n \to \infty} \frac{1}{\ell_n^{q, [q^\lambda]}} \sum_{k=q_n+1}^{[q_n]} \left(\frac{u_k - u_{q_n}}{k}\right) \le 0$$
<sup>(19)</sup>

and

$$\liminf_{\lambda\uparrow 1}\limsup_{n\to\infty}\frac{1}{\ell_n^{[q^\lambda],q}}\sum_{k=[q_n^\lambda]+1}^{q_n}\left(\frac{u_{q_n}-u_k}{k}\right)\leq 0,\tag{20}$$

respectively.

One can modify the proof of Theorem 4.1 so that the conclusion is valid if conditions (15) and (16) are replaced by (19) and (20), respectively.

The concept of slow decrease with respect to logarithmic summability for a sequence was defined by Kwee [21], similarly to Schmidt's concept of slow decrease in the case of Cesàro summability [30]. Kwee's definition is equivalent to Móricz's definition of slow decrease with respect to logarithmic summability (see, e.g., [24]).

Motivated by the definition of slow decrease with respect to logarithmic summability (see, e.g., [24]), we say that a real sequence ( $u_n$ ) is slowly decreasing with respect to summability ( $D_{\ell_n}$ , 1) if

$$\lim_{\lambda \downarrow 1} \liminf_{n \to \infty} \min_{q_n < k \le [q_n^\lambda]} (u_k - u_{q_n}) \ge 0.$$
<sup>(21)</sup>

Expressed in terms of  $\epsilon$  and  $\lambda$ , this can be formulated as: For given  $\epsilon > 0$ , there exist  $n_1 = n_1(\epsilon) > 0$  and  $\lambda = \lambda(\epsilon) > 1$  such that

$$u_k - u_{q_n} \ge -\epsilon$$
 whenever  $n \ge n_1$  and  $q_n < k \le [q_n^{\Lambda}]$ .

3687

An equivalent reformulation of (21) is the following:

$$\lim_{\lambda \uparrow 1} \liminf_{n \to \infty} \min_{[q_n^{\lambda}] < k \le q_n} (u_{q_n} - u_k) \ge 0.$$
(22)

Note that conditions (15) and (16) follow from conditions (21) and (22), respectively.

Next, we show that condition of being slowly decreasing with respect to summability ( $D_{\ell_n}$ , 1) is sufficient for a deferred logarithmic summable sequence to be convergent.

**Theorem 4.3.** If a sequence  $(u_n)$  of real numbers is deferred logarithmic summable to a finite limit L and slowly decreasing with respect to summability  $(D_{\ell_n}, 1)$ , then  $(u_n)$  converges to L.

It is obvious that if the one-sided sided Tauberian condition with respect to logarithmic summability [24],

 $n \log n (u_n - u_{n-1}) \ge -H, \quad n = 1, 2, \dots,$ 

is satisfied for some H > 0, then  $(u_n)$  is slowly decreasing with respect to summability  $(D_{\ell_n}, 1)$ . Indeed, in this case we have

$$u_k - u_{q_n} = \sum_{j=q_n+1}^k (u_j - u_{j-1}) \ge -H \sum_{j=q_n+1}^k \frac{1}{j\log j} \ge -H \int_{q_n}^k \frac{dx}{x\log x}.$$
(23)

It follows from (23) that

$$\min_{q_n < k \le [q_n^\lambda]} (u_k - u_{q_n}) \ge -H \int_{q_n}^{[q_n^\lambda]} \frac{dx}{x \log x}$$

and then,

$$\liminf_{n\to\infty}\min_{q_n< k\leq [q_n^\lambda]}(u_k-u_{q_n})\geq -H\log\lambda.$$

.

Since  $\lambda$  can be chosen arbitrarily close to 1, (21) easily follows.

For complex sequences, we prove the following two-sided theorems. First, we give necessary and sufficient Tauberian conditions under which convergence of a certain subsequence of a sequence of complex numbers follows from its deferred logarithmic summability.

**Theorem 4.4.** *If a sequence*  $(u_n)$  *of complex numbers is deferred logarithmic summable to a finite limit* L*, then*  $(u_{q_n})$  *converges to* L *if and only if one of the following two conditions is satisfied:* 

$$\liminf_{\lambda \downarrow 1} \limsup_{n \to \infty} \left| \frac{1}{\ell_n^{q, [q^\lambda]}} \sum_{k=q_n+1}^{[q_n^\lambda]} \left( \frac{u_k - u_{q_n}}{k} \right) \right| = 0$$
(24)

and

$$\liminf_{\lambda\uparrow 1}\limsup_{n\to\infty}\left|\frac{1}{\ell_n^{[q^\lambda],q}}\sum_{k=[q^\lambda_n]+1}^{q_n}\left(\frac{u_{q_n}-u_k}{k}\right)\right|=0,$$
(25)

*in which case we necessarily have (17) for all*  $\lambda > 1$ *, and (18) for all*  $0 < \lambda < 1$ *.* 

We can reformulate conditions (24) and (25) as follows: To every  $\epsilon > 0$  and  $\lambda_1 > 1$ , there exist  $n_1 = n_1(\epsilon) > 0$  and  $\lambda = \lambda(\epsilon)$  with  $1 < \lambda < \lambda_1$  such that for every  $n \ge n_1$  we have

$$\left|\frac{1}{\ell_n^{q,[q^{\lambda}]}}\sum_{k=q_n+1}^{[q^{\lambda}_n]} \left(\frac{u_k-u_{q_n}}{k}\right)\right| \le \epsilon$$

and for another  $1 < \lambda < \lambda_1$  we have

.

$$\left|\frac{1}{\ell_n^{[q^{\lambda^{-1}}],q}}\sum_{k=[q_n^{\lambda^{-1}}]+1}^{q_n}\left(\frac{u_{q_n}-u_k}{k}\right)\right|\leq\epsilon.$$

Motivated by the definition of slow oscillation with respect to logarithmic summability (see, e.g., [24]), we say that a complex sequence  $(u_n)$  is slowly oscillating with respect to summability  $(D_{\ell_n}, 1)$  if

$$\lim_{\lambda \downarrow 1} \limsup_{n \to \infty} \max_{q_n < k \le [q_n^\lambda]} |u_k - u_{q_n}| = 0.$$
<sup>(26)</sup>

Expressed in terms of  $\epsilon$  and  $\lambda$ , this can be formulated as: For given  $\epsilon > 0$ , there exist  $n_1 = n_1(\epsilon) > 0$  and  $\lambda = \lambda(\epsilon) > 1$  such that

$$|u_k - u_{q_n}| \le \epsilon$$
 whenever  $n \ge n_1$  and  $q_n < k \le [q_n^{\lambda}]$ .

.

An equivalent reformulation of (26) is the following:

$$\lim_{\lambda \uparrow 1} \limsup_{n \to \infty} \max_{[q_n^{\lambda}] < k \le q_n} |u_{q_n} - u_k| = 0.$$
<sup>(27)</sup>

Note that conditions (24) and (25) follow from conditions (26) and (27), respectively.

Next, we show that condition of being slowly oscillating with respect to summability  $(D_{\ell_n}, 1)$  is sufficient for a deferred logarithmic summable sequence to be convergent.

**Theorem 4.5.** If a sequence  $(u_n)$  of complex numbers is deferred logarithmic summable to a finite limit L and slowly oscillating with respect to summability  $(D_{\ell_n}, 1)$ , then  $(u_n)$  converges to Lt

If the classical two-sided Tauberian condition with respect to logarithmic summability [24]

$$n \log n |u_n - u_{n-1}| \le H, \quad n = 1, 2, \dots,$$

is satisfied for some H > 0, then  $(u_n)$  is slowly oscillating with respect to summability  $(D_{\ell_n}, 1)$ . Indeed, in this case we have

$$|u_k - u_{q_n}| \le \sum_{j=q_n+1}^k |u_j - u_{j-1}| \le H \sum_{j=q_n+1}^k \frac{1}{j\log j} \le H \int_{q_n}^k \frac{dx}{x\log x}.$$
(28)

It follows from (28) that

$$\max_{q_n < k \le [q_n^\lambda]} |u_k - u_{q_n}| \le H \int_{q_n}^{[q_n^\lambda]} \frac{dx}{x \log x}$$

and then

 $\limsup_{n\to\infty}\max_{q_n< k\leq [q_n^{\lambda}]}|u_k-u_{q_n}|\leq H\log\lambda.$ 

Since  $\lambda$  can be chosen arbitrarily close to 1, it is easy to verify that (26) holds.

#### 5. Proofs of theorems

Proof of Theorem 4.1. Necessity. It follows from (4) and (14) that

$$\lim_{n \to \infty} (u_{q_n} - D_{\ell_n}^{p,q}(u)) = 0.$$
<sup>(29)</sup>

3689

Case  $\lambda > 1.By$  (4) and (12),we have

$$\lim_{n \to \infty} \frac{\ell_n^{p, [q^{\lambda}]}}{\ell_n^{q, [q^{\lambda}]}} \left( D_{\ell_n}^{p, [q^{\lambda}]}(u) - D_{\ell_n}^{p, q}(u) \right) = 0.$$
(30)

Case  $0 < \lambda < 1$ . By (4) and (13),

$$\lim_{n \to \infty} \frac{\ell_n^{[p^{\lambda}],q}}{\ell_n^{[q^{\lambda}],q}} \left( D_{\ell_n}^{[p^{\lambda}],q}(u) - D_{\ell_n}^{[p^{\lambda}],[q^{\lambda}]}(u) \right) = 0.$$
(31)

Then, (17) (respectively (18)) is obtained from (8) (respectively (9)), (29) and (30) (respectively (31)). *Sufficiency.* ssume that (4), (15) and (16) are satisfied. In the case  $\lambda > 1$ , by (8), we have

$$u_{q_n} - D_{\ell_n}^{p,q}(u) = \frac{\ell_n^{p,[q^\lambda]}}{\ell_n^{q,[q^\lambda]}} \left( D_{\ell_n}^{p,[q^\lambda]}(u) - D_{\ell_n}^{p,q}(u) \right) - \frac{1}{\ell_n^{q,[q^\lambda]}} \sum_{k=q_n+1}^{[q^\lambda_n]} \left( \frac{u_k - u_{q_n}}{k} \right).$$
(32)

From (15) it follows that there exists a sequence  $\lambda_1 \downarrow 1$  such that

$$\lim_{j \to \infty} \liminf_{n \to \infty} \frac{1}{\ell_n^{q, [q^{\lambda_j}]}} \sum_{k=q_n+1}^{[q_n^{\lambda_j}]} \left(\frac{u_k - u_{q_n}}{k}\right) \ge 0,\tag{33}$$

where  $\lambda_1 := [\lambda_1]$ .

By (32), we have

$$\limsup_{n\to\infty} \left( u_{q_n} - D_{\ell_n}^{p,q}(u) \right) \leq \lim_{j\to\infty} \limsup_{n\to\infty} \frac{\ell_n^{p,[q^{\lambda_j}]}}{\ell_n^{q,[q^{\lambda_j}]}} \left( D_{\ell_n}^{p,[q^{\lambda_j}]}(u) - D_{\ell_n}^{p,q}(u) \right) + \lim_{j\to\infty} \limsup_{n\to\infty} \left( -\frac{1}{\ell_n^{q,[q^{\lambda_j}]}} \sum_{k=q_n+1}^{[q_n^{\lambda_j}]} \left( \frac{u_k - u_{q_n}}{k} \right) \right).$$

Considering (4), (30) and (33), we conclude that

$$\limsup_{n \to \infty} \left( u_{q_n} - D_{\ell_n}^{p,q}(u) \right) \le -\lim_{j \to \infty} \liminf_{n \to \infty} \left( \frac{1}{\ell_n^{q, [q^{\lambda_j}]}} \sum_{k=q_n+1}^{[q_n^{\lambda_j}]} \left( \frac{u_k - u_{q_n}}{k} \right) \right) \le 0.$$
(34)

In the case  $0 < \lambda < 1$ , by (9), we obtain

$$u_{q_n} - D_{\ell_n}^{p,q}(u) = \left(D_{\ell_n}^{[p^{\lambda}],[q^{\lambda}]}(u) - D_{\ell_n}^{p,q}(u)\right) + \frac{\ell_n^{[p^{\lambda}],q}}{\ell_n^{[q^{\lambda}],q}} \left(D_{\ell_n}^{[p^{\lambda}],q}(u) - D_{\ell_n}^{[p^{\lambda}],[q^{\lambda}]}(u)\right) + \frac{1}{\ell_n^{[q^{\lambda}],q}} \sum_{k=[q_n^{\lambda}]+1}^{q_n} \left(\frac{u_{q_n} - u_k}{k}\right).$$

From (16) it follows that for some sequence  $\lambda_1 \uparrow 1$ , we have

$$\liminf_{j\to\infty}\liminf_{n\to\infty}\frac{1}{\ell_n^{[q^{\lambda_j}],q}}\sum_{k=[q_n^{\lambda_j}]+1}^{q_n}\left(\frac{u_{q_n}-u_k}{k}\right)\geq 0.$$

Consequently, in a similar way as above,

$$\liminf_{n \to \infty} \left( u_{q_n} - D_n^{p,q}(u) \right) \geq \liminf_{j \to \infty} \liminf_{n \to \infty} \left( D_{\ell_n}^{[p^{\lambda_j}], [q^{\lambda_j}]}(u) - D_{\ell_n}^{p,q}(u) \right) + \liminf_{j \to \infty} \liminf_{n \to \infty} \frac{\ell_n^{[p^{\lambda_j}], q}}{\ell_n^{[q^{\lambda_j}], q}} \left( D_{\ell_n}^{[p^{\lambda_j}], q}(u) - D_{\ell_n}^{[p^{\lambda_j}], [q^{\lambda_j}]}(u) \right) \\
+ \liminf_{j \to \infty} \liminf_{n \to \infty} \frac{1}{\ell_n^{[q^{\lambda_j}], q}} \sum_{k = [q_n^{\lambda_j}] + 1}^{q_n} \left( \frac{u_{q_n} - u_k}{k} \right) \geq 0.$$
(35)

Combining (34) and (35) yields (29), which implies (14) since (4).  $\Box$ 

*Proof of Theorem* 4.3. Assume (21) is satisfied, then so is (22). It is clear that conditions (21) and (22) imply (15) and (16), respectively. Then, from Theorem 4.1, we have convergence of  $(u_{q_n})$  to *L*: For given  $\epsilon > 0$ , there exists  $N = N(\epsilon) > 0$  such that

$$-\frac{\epsilon}{2} \le u_{q_n} - L \le \frac{\epsilon}{2} \tag{36}$$

whenever  $n \ge N$ 

It follows from the equivalent form of (21) that for given  $\epsilon > 0$ , there exist  $n_1 = n_1(\epsilon) > 0$  and  $\lambda = \lambda(\epsilon) > 1$  such that

$$u_k - u_{q_n} \ge -\frac{\epsilon}{2} \tag{37}$$

whenever  $n \ge n_1$  and  $q_n < k \le [q_n^{\lambda}]$ .

It follows from the equivalent form of (22) that for given  $\epsilon > 0$ , there exist  $n_2 = n_2(\epsilon) > 0$  and  $0 < \lambda = \lambda(\epsilon) < 1$  such that

$$u_{q_n} - u_k \ge -\frac{\epsilon}{2} \tag{38}$$

whenever  $n \ge n_2$  and  $[q_n^{\lambda}] < k \le q_n$ .

Taking (36) and (37) into account, we have

$$u_k - L = u_k - u_{q_n} + u_{q_n} - L \ge -\frac{\epsilon}{2} - \frac{\epsilon}{2} = -\epsilon$$
(39)

whenever  $k \ge n \ge N_1 = \max \{n_1, N\}$ .

Taking (36) and (38) into account, we have

$$u_k - L = u_k - u_{q_n} + u_{q_n} - L \le \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon$$

$$\tag{40}$$

whenever  $k \ge n \ge N_2 = \max\{n_2, N\}.$ 

By (39) and (40), we have for given  $\epsilon > 0$  there exists  $N_3 = \max \{N_1, N_2\}$  such that

 $-\epsilon \le u_n - L \le \epsilon$ 

whenever  $n \ge N_3$ . This completes the proof.  $\Box$ 

*Proof of Theorem 4.4. Necessity.* The proof runs along similar lines to the proof of the necessity part in Theorem 4.1.

*Sufficiency.* Assume that (4) and (24) are satisfied. It follows from (24) that there exists a sequence  $\lambda_j \downarrow 1$  satisfying

$$\lim_{j \to \infty} \limsup_{n \to \infty} \left| \frac{1}{\ell_n^{q, [q^{\lambda_j}]}} \sum_{k=q_n+1}^{[q_n^{\lambda_j}]} \left( \frac{u_k - u_{q_n}}{k} \right) \right| = 0.$$
(41)

By (8), we have

$$\limsup_{n\to\infty} \left| u_{q_n} - D_{\ell_n}^{p,q}(u) \right| \leq \limsup_{n\to\infty} \limsup_{n\to\infty} \frac{\ell_n^{p,[q^{\lambda_j}]}}{\ell_n^{q,[q^{\lambda_j}]}} \left| D_{\ell_n}^{p,[q^{\lambda_j}]}(u) - D_{\ell_n}^{p,q}(u) \right| + \limsup_{n\to\infty} \limsup_{n\to\infty} \left| \frac{1}{\ell_n^{q,[q^{\lambda_j}]}} \sum_{k=q_n+1}^{[q_n^{\lambda_j}]} \left( \frac{u_k - u_{q_n}}{k} \right) \right|.$$

Taking (4), (30) and (41) into account, we obtain

$$\limsup_{n\to\infty} \left| u_{q_n} - D_{\ell_n}^{p,q}(u) \right| \le \limsup_{j\to\infty} \limsup_{n\to\infty} \left| \frac{1}{\ell_n^{q,[q^{\lambda_j}]}} \sum_{k=q_n+1}^{[q_n^{\lambda_j}]} \left( \frac{u_k - u_{q_n}}{k} \right) \right| = 0,$$

which concludes the proof of convergence of  $(u_{q_n})$  to *L*.

A similar proof can be given if (25) is satisfied.  $\Box$ 

*Proof of Theorem* 4.5. Assume that  $(u_n)$  is deferred logarithmic summable to L and condition (26) is satisfied. By Theorem 4.4, we have convergence of  $(u_{q_n})$  to L: For given  $\epsilon > 0$  there exists  $N = N(\epsilon) > 0$  such that

$$|u_{q_n} - L| \le \frac{\varepsilon}{2} \tag{42}$$

whenever  $n \ge N$ .

It follows from the equivalent form of (26) that for given  $\epsilon > 0$ , there exist  $n_1 = n_1(\epsilon) > 0$  and  $\lambda = \lambda(\epsilon) > 1$  such that

$$|u_k - u_{q_n}| \le \frac{\epsilon}{2} \tag{43}$$

whenever  $n \ge n_1$  and  $q_n < k \le [q_n^{\lambda}]$ .

Taking (42) and (43) into account, we have

$$|u_k - L| \le |u_k - u_{q_n}| + |u_{q_n} - L| \le \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon$$

whenever  $k \ge n \ge N_1 = \max\{n_1, N\}.$ 

A similar proof can be given if (27) is satisfied.  $\Box$ 

## 6. Conclusion

The concept of summability has been extensively studied over the years, with various transformations being proposed to address different challenges. Although established summability methods serve as important milestones within the field, there remains a persistent need for further exploration and refinement. Recently, numerous studies have focused on the generalization of classical summability methods, resulting in new approaches such as the deferred Cesàro mean. In this study, we introduced the deferred logarithmic transformation by modifying the logarithmic method, aiming to achieve a more general and effective transformation compared to logarithmic and other well-known methods in terms of its properties. In line with this aim, upon examining the implication relations between the summability methods discussed, we established that if  $(D_{\ell_n}, 1)$  is proper, then the  $(D_{\ell_n}, 1)$  summability method is more effective than both the  $(\ell, 1)$  and (C, 1) summability methods. Additionally, for the deferred logarithmic method, for which we demonstrated regularity under conditions (2) and (3), we presented the converse results, namely Tauberian theorems. We provided necessary and sufficient Tauberian conditions under which convergence of a sequence and convergence of its certain subsequences follows from deferred logarithmic summability. The results obtained in this paper anticipated to be beneficial for deriving more interesting and useful results concerning other advanced summability methods and for extending these findings to additional areas of research.

3692

#### References

- [1] R. P. Agnew, On deferred Cesàro means, Ann. Math. 33 (1932), 413–421.
- M. A. Alghamdi, M. Mursaleen, A. Alotaibi, Logarithmic density and logarithmic statistical convergence, Adv. Differ. Equ. 421 (2013), 1–6.
- [3] P. Baliarsingh, On statistical deferred A-convergence of uncertain sequences, Int. J. Uncertain. Fuzziness Knowl. Based Syst. 29 (2021), 499–515.
- [4] P. Baliarsingh, L. Nayak, B. P. Padhy, H. Dutta, On regular variations of fuzzy sequences via deferred statistical convergence, Filomat 37 (2023), 5399–5412.
- [5] M. Çınar, E. Yılmaz, M. Et, Deferred statistical convergence on time scales, Proc. Rom. Acad. Ser. A Math. Phys. Tech. Sci. Inf. Sci. 22 (2021), 301–307.
- [6] N. H. Bingham, B. Gashi, Logarithmic moving averages, J. Math. Anal. Appl. 421 (2015), 1790–1802.
- [7] U. Değer, M. Küçükaslan, A generalization of deferred Cesàro means and some of their applications, J. Inequal. Appl. (2015), 1–16.
- [8] H. Dutta, S. K. Paikray, B. B. Jena, On statistical deferred Cesàro summability, In: Current Trends in Mathematical Analysis and Its Interdisciplinary Applications, Birkhäuser/Springer, Cham (2019), 885–909.
  [9] S. Ercan, On deferred Cesàro mean in paranormed spaces, Korean J. Math. 29 (2021), 169–177.
- [10] M. Et, On some generalized deferred Cesàro means of order β, Math. Methods Appl. Sci. 44 (2021), 7433–7441
- B. B. Jena, S. K. Paikray, H. Dutta, Statistical deferred Cesàro summability and its applications to approximation theorems, Filomat 32 (2018), 2307–2319.
- [12] B. B. Jena, S. K. Paikray, H. Dutta, On various new concepts of statistical convergence for sequences of random variables via deferred Cesàro mean, J. Math. Anal. Appl. 487 (2020), 123950.
- [13] V. A. Khan, B. Hazarika, I. A. Khan, Z. Rahman, A study on I-deferred strongly Cesàro summable and μ-deferred I-statistical convergence for complex uncertain sequences, Filomat 36 (2022), 7001–7020.
- [14] V. A. Khan, I. A. Khan, B. Hazarika, Z. Rahman, Strongly I-deferred Cesàro summability and μ-deferred I-statistically convergence in amenable semigroups, Filomat 36 (2022), 4839–4856.
- [15] V. A. Khan, B. Hazarika, I. A. Khan, U. Tuba, I-deferred strongly Cesàro summable and μ-deferred I-statistically convergent sequence spaces, Ricerche Mat. 72 (2023), 991–1006.
- [16] V. A. Khan, M. Faisal, Tauberian theorems for Cesàro summability in neutrosophic normed spaces, Filomat 37 (2023), 3411–3426.
- [17] V. A. Khan, I. A. Khan, B. Hazarika, Space of Wijsman μ-deferred Cesàro I-statistically convergent of order (a, b) set sequence, Proc. Natl. Acad. Sci., India, Sect. A Phys. Sci. 93 (2023), 321–329.
- [18] V. A. Khan, I. A. Khan, B. Hazarika, A. Kumar, Approximation theorem via ideal deferred power series statistical convergence, J. Nonlinear Convex Anal. 25 (2024), 2305–2315.
- [19] A. Kılıçman, S. Borgohain, M. Küçükaslan, Some Tauberian conditions on logarithmic density, Adv. Differ. Equ.(2019), 1–9.
- [20] M. Küçükaslan, M. Yılmaztürk, On deferred statistical convergence of sequences, Kyungpook Math. J. 56 (2016), 357–366.
- [21] B. Kwee, A Tauberian theorem for the logarithmic method of summation, Proc. Camb. Philos. Soc. 63 (1967), 401–405.
- [22] N. Memić, Almost everywhere convergence of some subsequences of the Nörlund logarithmic means of Walsh–Fourier series, Anal. Math. 41 (2015), 45–54.
- [23] F. Móricz, On the harmonic averages of numerical sequences, Arch. Math. (Basel) 86 (2006), 375–384.
- [24] F. Móricz, Necessary and sufficient Tauberian conditions for the logarithmic summability of functions and sequences, Stud. Math. 219 (2013), 109–121.
- [25] L. Nayak, B. C. Tripathy, P. Baliarsingh, On deferred-statistical convergence of uncertain fuzzy sequences, Int. J. Gen. Syst. 51 (2022), 631–647.
- [26] L. Nayak, M. Mursaleen, P. Baliarsingh, On deferred statistical A-convergence of fuzzy sequence and applications, Iran. J. Fuzzy Syst. 19 (2022), 119–131.
- [27] F. Nuray, U. Ulusu, Deferred strongly Cesàro summable and statistically convergent functions, Honam Math. J. 44 (2022), 560–571.
- [28] M. A. Okur, Ü. Totur, Tauberian theorems for the logarithmic summability methods of integrals, Positivity 23 (2019), 55–73.
- [29] K. Saini, K. Raj, M. Mursaleen, Deferred Cesàro and deferred Euler equi-statistical convergence and its applications to Korovkin-type approximation theorem, Int. J. Gen. Syst. 50 (2021), 567–579.
- [30] R. Schmidt, Über divergente Folgen und lineare Mittelbildungen, Math. Z. 22 (1925), 89–152.
- [31] S. A. Sezer, İ. Çanak, Tauberian theorems for the summability methods of logarithmic type, Bull. Malays. Math. Sci. Soc. 41 (2018), 1977–1994.
- [32] S. A. Sezer, İ. Çanak, H. Dutta, Conditions under which convergence of a sequence or its certain subsequences follows from deferred Cesàro summability, Filomat 36 (2022), 921–931.
- [33] S. A. Sezer, İ. Çanak, Deferred Cesàro means of fuzzy number-valued sequences with applications to Tauberian theorems, Filomat 37 (2023), 5993–6004.
- [34] H. M. Srivastava, B. B. Jena, S. K. Paikray, Deferred Cesàro statistical probability convergence and its applications to approximation theorems, J. Nonlinear Convex Anal. 20 (2019), 1777–1792.
- [35] O. Szász, Introduction to the theory of divergent series, (Written by J. Barlaz) Revised ed. Stechert Hafner, Inc. and Department of Mathematics, Graduate School of Arts and Sciences, University of Cincinnati, New York and Cincinnati, (1952).
- [36] E. Yavuz, H. Çoşkun, On the logarithmic summability method for sequences of fuzzy numbers, Soft Comput. 21 (2017), 5779–5785.